A & Ol &F At A A
2013 & 20 A 2L BHE| K|
: 200 M4
2 210 BAFMASY
& 212 AlBE2Y (2l &)
H-a-8.-5 Oll &FoH & & 0] A oH Hlw =2t
£ A 3,018,781 2,604,451 414,330
200 AI2l#el 265,000 165,000 100,000
210 BAXMe 5 20,000 20,000 0
PAVRUNE=2= ] 20,000 20,000
212-05 A ZHAIR 2 20,000 20,000 0
[ 283 ] 20,000 20,000 0
<ANMTESY > 20,000 20,000 0
OFEANF(AY B2, FA)IAER 20,000
220 LA E A2l 4 245,000 145,000 100,000
228 JIEF ¢ 245,000 145,000 100,000
208-03 HEAE 5,000 5,000 0
[ L83 ] 5,000 5,000 0
<AMASY > 5,000 5,000 0
OJtA Y S A HERL DS 5,000
228-04 WA= LOIH A= 100,000 100,000 0
[ 23 ] 100,000 100,000 0
<ANMTESY > 100,000 100,000 0
O&R L AR HHA2 AFYE )3 100,000
228-09 194 ¢ 140,000 40,000 100,000
[ 283 ] 140,000 40,000 100,000
<ZHEED > 140,000 40,000 100,000
OASAIE OFAI0IE &X 2RSS 140,000
300 XY w2Al 40,000 80,000 40,000
310 XY n=2A 40,000 80,000 A40,000
311 XY w LAl 40,000 80,000 240,000
311-02 SER A 40,000 80,000 A 40,000
[ Lersl A ] 40,000 80,000 £ 40,000
<ZHEED > 40,000 80,000 240,000
O ESA KO AIYZ AlEAIY 40,000
500 2 X2 2,713,781 2,359,451 354,330
510 2 DB X3S 2,400,206 1,773,424 626,782
511 2N2X2S 2,400,206 1,773,424 626,782
511-01 22X 3 720,206 316,424 403,782
[ 283 ] 720,206 316,424 403,782
<AMTEY > 720,206 316,424 403,782
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Z2-2-8-5 Off &4 & E 0l At Hr&E2
OXNdsgedcds NEFAY 85,000
OXNSEsSH LXelAre 282,918
O=EEx SSXT HIZEHAE &X 49,000
O0N2AS IFAANE M AL 106,288
OOl X &2 efatc 197,000
511-02 29 - NYEHELEIAHEELS 1,680,000 1,457,000 223,000
[ Letsl A ] 1,680,000 1,457,000 223,000
<ZHISH > 1,680,000 1,457,000 223,000
OASAE OHAH0IE &X 1,680,000
520 Al - SHIBEZZ2S 313,575 586,027 A272,452
521 Al - SHIEX3 S 313,575 586,027 N272,452
521-01 Al - EHIEEXZ2 S 313,575 586,027 A272,452
[ B3I ] 313,575 586,027 A272,452
<ZdMEASH > 313,575 586,027 N272,452
O30 22X s2na2y 3,000
O3 221X s=22sHHE 3,000
o= 22X M=sUsl 10,000
o=z 22X &g =H 10,000
OZNcISEXNEHE 2SS A2l 11,700
oMEergs Nzl 10,000
OXNSGSSH LAt 84,875
O SIHZLIHRY gS243 9,600
OaHdl tagd a2l 5,200
OUHASAHS EIIANENE AL 5,400
Odel s &EXAY 50,000
OrEMA XS A3 AlE ALY 80,000
OXXNdYHM =303 Hgdeid X2 6,000
OESAE HHE MHIAALY XI& 19,800
o344 MU= 5,000
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N = 0] &F AF S & AN A
20138 &= 20l AF LEHSH & Al
2A4: BMEAE D
M 4T oA L 22 WA
S Xl 22l (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
AHEE W 6,433,326 6,074,932 358,394
= 720,206
2 1,680,000
S 40,000
= 103,183
& 313,575
Al 3,576,362
X otd & 22 A 1,264,756 588,112 676,644
= 352,288
& 55,400
Al 857,068
ol Xl 2tel 1,264,756 588,112 676,644
= 352,288
= 55,400
Al 857,068
JpAOFM 22| 5,440 5,440 0
201 et 1,240 1,240 0
01 AF 22| H| 1,240 1,240 0
OJNAFHISYA ot WEWI Ol
2,8008 * 2508 * 13| 700
OJlASs4SE BEE Al 2 3,600& * 15004 540
202 o4l 4,200 4,200 0
01 2Ll 4,200 4,200 0
OoludX Y 2RFA0H| 4,200
Aes a2 856 348 508
201 et 600 0 600
01 AP 2t 2] H| 600 0 600
ONRSEZZAI AISHF J=¢
2,0002 * 300 600
206 M = dl 256 348 N 92
01 X2 bl 256 348 N 92
Oz SEAZAMN Az 256
-Fge 2,000 * 32 * 200024 120
-3 1,800& * 24 x 200 72
-5 1,600 *~ 24 * 2000 A& 64
HARHS JFAANE NS A 132,860 23,124 109,736
= 106,288
Al 26,572
403 XX SHHS K20 & 132,860 0 132,860
= 106,288
Al 26,572
02 BI2SHCHSHCHE AFS HI 132,860 0 132,860
HAR2HZS JIIAANEMNSE XS 132,860
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4
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= 106,288
Al 26,572
HASHSZS EIIAIE HEAS 30,200 33,200 A 3,000
& 5,400
Al 24,800
201 LBt | 21,200 21,200 0
01 AP 22| d| 21,200 21,200 0
OAHES EIIANE B3Y =22
53,000 * 400Al CH 21,200
206 M = Hl 9,000 12,000 A 3,000
& 5,400
Al 3,600
01 X2 H| 9,000 12,000 A 3,000
OdA2HES EIIAE & 26| 9,000
o= 5,400
Al 3,600
MIHMNHX ESAHS 2,000 2,000 0
201 et | 2,000 2,000 0
01 AP 22| d| 2,000 2,000 0
ORI ZS L AMIHMNUHA =222 7+
1,000 = 22,0004 2,000
els 22 AY 200,000 260,000 A 60,000
& 50,000
Al 150,000
402 SI2v X0l & 200,000 260,000 A 60,000
& 50,000
Al 150,000
01 QX2 X 200,000 260,000 A 60,000
Ogls &x X& 200,000
= 50,000
Al 150,000
ol 4 XI&2F 22| 394,000 264,000 130,000
= 197,000
Al 197,000
401 Al HI L 2 0HHI 394,000 0 394,000
= 197,000
Al 197,000
01 Al&H| 394,000 0 394,000
OAMEA UK B2ZAAE AX 352,000
= 176,000
Al 176,000
OANZEA W 2H HE &X 42,000
= 21,000
Al 21,000
=2 22Xcld EHYFZUIAIE EX 98,000 0 98,000
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M UX etd Y B3z A
S X 2el (&)
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
= 49,000
Al 49,000
401 Al Bl 28I 98,000 0 98,000
= 49,000
Al 49,000
01 A& HI 97,300 0 97,300
OHLZLEAE EX SAtHI 97,300
= 49,000
Al 48,300
03 AlE 2 THHI 700 0 700
OAIE = HHI 700
SANA B2 2 401,400 0 401,400
201 L2l 1,400 0 1,400
01 At 2t 2l 1,400 0 1,400
OZAJA B3 dofid +¢
70,0003 = 501 = 43| 1,400
307 glz2+ol & 400,000 0 400,000
02 QIZtFAE X 400,000 0 400,000
OZAIIA =K Ald 232 XE 400,000
2dxtel =0 N8oE ,524,072 1,532,351 A8,279
= 367,918
& 103,183
< 132,575
Al 920,396
22 =X e 81,700 186,200 A 104,500
< 26,000
Al 55,700
E A =INE 3,960 103,960 A 100,000
201 L2l 3,960 103,960 A 100,000
01 At 22l 3,560 3,560 0
O=AFEAS &4 29
70,000& = 10 « 23l 1,400
O=LZE MRA Xz 180,000& * 122 2,160
02 =24l 400 100,400 100,000
Os=X3zd nesxrdREs 400,000& 400
W=e 224 =X 25,740 30,240 A 4,500
201 L2l 240 240 0
01 At 2t 2l 240 240 0
O22X H&E M 8,000& * 300K 240
307 21201 A 25,500 30,000 A 4,500
04 QIZHSH AL = 25,500 30,000 A 4,500
O22X SX A K& 25,500
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-Z22X2 & JIgdA 10,000
-22x M= 10,000
- S XCOHEX MIOILE 1,500
- ALE BtitE 9= 4,000
=0l 22X S & 52,000 52,000 0
< 26,000
Al 26,000
307 gl2tol & 52,000 52,000 0
< 26,000
Al 26,000
02 plZtF N2 X 6,000 6,000 0
o3¢0 22k s2una2y
250,000& = 12&8 » 20HEHXl 6,000
< 3,000
Al 3,000
04 QIZHHALE = 46,000 46,000 0
O=e 22X A2 E
2,000,000& * 33l 6,000
< 3,000
Al 3,000
OoA3¢e 22X MU 20,000
< 10,000
Al 10,000
o=el 22X &ots =A 20,000
< 10,000
Al 10,000
orsl AE ALY 151,200 151,200 0
s&d K& 151,200 151,200 0
201 Let24d] 1,200 1,200 0
01 At 22/l 1,200 1,200 0
OxEssd WA 2& &=+ M
60,000& = 20K 1,200
301 et A3z 150,000 150,000 0
12JE243 150,000 150,000 0
O%EEd 28 & 0L =
500,000& * 75% = 4043 150,000
el &= 1,291,172 , 194,951 96,221
= 367,918
& 103,183
< 106,575
Al 713,496
S22 ALY 548,436 504,503 43,933
& 103,183
Al 445,253
101 14l 544,566 503,403 41,163
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el Yxel HE (29l 8)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 103,183
Al 441,383
04 JIZtHI22XNSES 544 566 503,403 41,163
OZEN X erAdd] 544 /566
-Jl2a2 30,000& * 55 * 110Y x 23] 363,000
= 103,183
Al 259,817
-R2FY+g
30,000& = 55% * 222 x 23] 72,600
-xRg g
30,000 % 559 x 5 * 23| 16,500
~DEH 2 A4
3,000& * 55 x 110¥ x 23] 36,300
—-4HEE = 488,400,000& * 11.5% 56,166
201 et d| 1,870 1,100 770
01 AP 2t 2| H| 1,870 1,100 770
OFWA 28 &4=9 M
55,000& * 1704 * 23] 1,870
206 M = Hl 2,000 0 2,000
01 X2 4| 2,000 0 2,000
OZJ2EZNY HYET L HH7Y
1,000,000& * 23| 2,000
LAANCISESXNIHE 2 32,400 32,400 0
= 11,700
Al 20,700
101 21 214| 23,400 23,400 0
& 11,700
Al 11,700
04 JI2tHI22XNEE S 23,400 23,400 0]
O2F AR 01| 23,400
-Jl23 14,400
= 7,200
Al 7,200
-Sa5gxg 4,320
= 2,160
Al 2,160
- xRa+" 900
= 450
Al 450
—-4HEE = 1,980
&< 990
Al 990
- A SEAH 1,800
& 900
Al 900
201 et | 6,000 6,000 0
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gl Fs I20tE
el Yxel HE (29l 8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 6,000 6,000 0
O 2XelseXddE 239l 6,000
-2l dHER HLUALDS 2,000
-FHYggy B2 MH 1,500
- FA MEAN M 1,000
- AAREEHI 1,500
203 YR =&t 3,000 3,000 0
03 Al =AY 2= 3,000 3,000 0
O HgXd & dXeldEE SRFA| 3,000
2helEE XS MY 25,100 24,200 900
= 10,000
Al 15,100
201 Let249] 20,900 20,000 900
< 10,000
Al 10,900
01 At 22l 900 0 900
O XelSAIH EIIAE Ha S 2l
15,000& * 305 * 23] 900
03 A2 Z Hl 20,000 20,000 0
OoMELE 3 Ml 20,000
< 10,000
Al 10,000
202 044l 4,200 4,200 0
01 = LH o4 1l 4,200 4,200 0
Ogiel&2&Egd HREFE Al 4,200
S AZZ2EEME 500 1,000 A 500
802 £+2H 3D 500 1,000 A500
ICEnIgeR=g=g= 500 1,000 A 500
O'09, 104 Dlal= Y22 EA & 500
NEESSH LAl At 584,736 632,848 A48,112
= 282,918
< 84,875
Al 216,943
101 @14 Hl 507,905 474,990 32,915
= 243,753
< 84,875
Al 179,277
04 JIZHHZ22XNHEE S 507,905 474,990 32,915
OXNGZSH LAelAtd WX el 507,905
-J22 30,0003 = 659 = 274 » 83 421,200
= 200,401
< 84,875
Al 135,924
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M 2dXe s DEorA
Chl: LXte &= Cf
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
—DSUl o Al
3,000 * 65Y * 222 x 8& 34,320
2 17,160
Al 17,160
-5HE2E 455,520,000& * 11.5% 52,385
= 26,192
Al 26,193
201 et d| 13,200 12,200 1,000
= 6,850
Al 6,350
01 AP 2t 2| H| 13,200 12,200 1,000
Oo2Zz O A2 500,000& » 11€ 5,500
2 3,000
Al 2,500
OzsEg g4 50,000& = 340H 1,700
= 850
Al 850
OZIIAE M2 S MYl 1,000
= 500
Al 500
OXNEZ2=H LAelArg =& S AH| 3,000
= 500
Al 1,500
OHMARDE L AIR23EH| 2,000
= 1,000
Al 1,000
202 04| 3,000 3,000 0
= 2,000
Al 1,000
01 2L Hl 3,000 3,000 0
OXNY92=sH LXelArE =& ol 3,000
= 2,000
Al 1,000
206 24l 60,631 62,658 2,027
= 30,315
Al 30,316
01 X2 8| 60,631 62,658 N2,027
OXNEZ2SH LACIAIE=E = 60,631
= 30,315
Al 30,316
NS =8 LRl zEsAY 100,000 100,000
= 85,000
Al 15,000
307 2Iz2to| & 100,000 100,000
= 85,000
Al 15,000
02 QI2tA3 A X 100,000 100,000
_ 7 _
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el Yxel HE (29l 8)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OXg 4822 ot 2202 1+ F 50,000
= 42,500
Al 7,500
O&HAHNH 20t WA 50,000
= 42,500
Al 7,500
ANSEH 243t 3,514,345 3,825,288 A 310,943
& 1,680,000
= 40,000
= 125,600
Al 1,668,745
Soterd e 65,440 65,960 A 520
S 9,600
Al 55,840
SIS A F& 44,640 45,160 A 520
< 9,600
Al 35,040
201 £B-2d| 5,640 5,560 80
01 At 22l 5,640 5,560 80
OAHIREMMOAAS &HA +g
70,0003 = 14H « 33| 2,940
O10e10l& SHREY ot DHA A HFXE
SIES 120,000& * 1004 & 1,200
Osoetd 222 M 100& = 15,0000H 1,500
301 L2 A S 33,600 33,600 0
< 9,600
Al 24,000
12 JIEtE4 3 33,600 33,600 0
OAl SHELIHRY &3 B4
200,000& = 1098 » 128 24,000
T SNHILIHRA &3 243
200,000 = 4H = 12& 9,600
< 9,600
307 glz2+ol & 5,400 6,000 A 600
02 RIZHEAME R 5,400 6,000 A 600
O1020la SHEE IS &L=
K& (10 S 20,0003 ) 5,400
JbZFoE SEHeaAs 2= 2 X 20,800 20,800 0
201 LB-2E| 20,800 20,800 0
01 At 2t 2l 20,800 20,800 0
O Jtzery @AM QIHEIE XJA(MYIIS
== 10,800
O JhZioty 2ues ME HE
400,000 * 2500 2 10,000
L2HAES 27,981 37,193 A9,212
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 5,200
Al 22,781
AHIAES MY =& 27,981 25,322 2,659
< 5,200
Al 22,781
101 @124 dl 17,881 15,222 2,659
< 5,200
Al 12,681
04 JI2ZtHZ22HEE =+ 17,881 15,222 2,659
OAHIXH&ERE 21| 17,881
-Jl=3 39,3902 * 18 * 2502 9,848
< 2,954
Al 6,894
-REsLs 39,3903 b2 2,049
< 614
Al 1,435
RPN E =R =y 39,390& » 10 394
< 118
Al 276
- =AM 5,000& » 250 1,250
< 375
Al 875
—wES=E x| 5,000& = 250 1,250
< 375
Al 875
- =2
39,390& /8 * 1.5 = 10AI2+ * 12& 887
< 266
Al 621
—-4UEER 15,676,000& = 11.5% 1,803
< 378
Al 1,425
-—usEA @ SXNEY O 400
< 120
Al 280
201 24l 1,000 1,000 0
01 At 22l 1,000 1,000 0
Okol AHXRE M 7¢
1,000& = 1,000% 1,000
202 Oddl 2,100 2,100 0
01 2LHOI ] 2,100 2,100 0
OAHINMESEY 82 FAAWHI 2,100
203 YR =&t 2,000 2,000 0
03 A BFAH S =AY 2,000 2,000 0
OA2HIXNES SRFAH| 2,000
307 gl2tol & 5,000 5,000 0
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S AHIUNES (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
02 QI2tAAME X 5,000 5,000 0
ONEZ=HITHRAR’E 29 &
300,000& = 103l 3,000
Oadl s AA XS 2,000
20 4 120,600 142,690 A 22,090
= 6,000
Al 114,600
L2 LR 81,560 98,560 A 17,000
= 6,000
Al 75,560
201 et 9| 560 560 0
01 AR 22l ] 560 560 0]
OEXEGHEN AMoRARE A=Y
70,000 = 8" x 13 560
307 QI2t0| & 81,000 98,000 A 17,000
& 6,000
Al 75,000
02 QI2tAAME X 81,000 98,000 A 17,000
OEXNEIM =303 N&&EALH XA
2,400,000& * 1500 A 36,000
= 6,000
Al 30,000
OAXNEGHM =303 &AL XA
1,800,000 = 25J0H < A 45,000
LLEZWHS T2 HHE 39,040 44,130 A5,090
201 et Y| 12,020 12,610 A 590
02 Z2=2=24%4| 2,000 2,000 0
OZ303 &A.EH2 &8 29
2,000,000& * 1JH 2,000
03 A2 A H| 10,020 10,610 A 590
OHM9gl 2S00 t& =l 10,020
—-&AZ 22 L 2UAE AIS2 2,000
-&F NEUH o= 20,000& = 1004 2,000
~EEX AN 4T 2,400
- Az 2IES M 1,000& = 1,000 1,000
- AE WO 2 9,0008 * 60X 540
-E49 U U 1,100
— AR R ZAlH|
7,000& * 10¥ = 14¢ 980
203 €2 F=&d| 3,000 3,000 0
03 AIEH =& 2 F XY 3,000 3,000 0
ORLTOE BRWE NHZHALEHY) 3,000
301 LBt A= 10,520 13,520 A 3,000
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 HALA B2 A2 7,520 7,520 0
OIBAEEZHEUAE IR 242
25,0003 = 80Y » 2¢ 4,000
OUeeI=2zSUHAE IR 2432
120,000& * 20X 2,400
o330 g3 F4X 4|
7,000& = 80Y « 23] 1,120
12 JIEE4 3 3,000 6,000 A 3,000
OZol =B =2 HEQRA 243
30,000& = 2H = 50 3,000
307 glz2t0l & 13,500 15,000 A 1,500
02 RIZHEAME R 13,500 15,000 A 1,500
Od&Zu =2t gXlor2 X&
900,000& = 159 13,500
HdSAE OtAHE K& 47,750 48,650 A 900
< 19,800
Al 27,950
HEANE OIHEHA & 8,100 9,000 A 900
307 glz2tol & 8,100 9,000 A 900
04 QIZHSHALE = 8,100 9,000 A 900
OEEANZE OIHE XA
2,700,000& = 3HAIZ 8,100
HEANE BHEAMEIA ALY 33,000 33,000 0
< 19,800
Al 13,200
307 gl2tol & 33,000 33,000 0
< 19,800
Al 13,200
02 plZtF A2 X 33,000 33,000 0
OESAZE BHEMBIAAY XA
1,100,000& = 3% » 100HE 33,000
< 19,800
Al 13,200
dEANE B 6,650 6,650 0
201 Let24d| 4,650 4,650 0
01 At 22/l 4,650 4,650 0
OXSAZE 018 282 8=9 A
55,000& * 1500 * 23] 1,650
OFEANE &2 M M
150& = 5,00001 = 23l 1,500
OFSANE 252 4353 222 M
150& = 5,00001 = 23l 1,500
203 ¥R =&l 2,000 2,000 0
03 Al =AY R =& 2,000 2,000 0
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HEANZE OHAE X
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SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HD=2
| | OFSAE DAY AMNBZ=RGREXY| 2,000
HEANE AL 03 X 2,312,580 2,442,680 2130, 100
z 1,680,000
Al 632,580
HEANZ A& S 22 62,580 14,680 47,900
201 LB Y] 12,580 14,680 A2,100
01 AL 22/ H] 5,700 3,600 2,100
ONSAIE HMIOHN HAL2D
100,0002 * 3HA * 23] 600
OFEAZ ARD AKX 22/
1,000,0009! * 30 4 3,000
OFXIAZ ZHOE S$EHS(MAD &)
35,0002 * 5CH *12% 2,100
02 ZZ29H 6,880 11,080 A 4,200
OFSAIE MIOHX Qe D)
100,0002 * 3044 » 128 3,600
OFUAE Hatx HAH|
200,000 * 1A * 23] 400
OXHAIE ZH0E 22)| SNEL
100,000 * 122 1,200
OXHAIE ZHOE H3tnte
140,00080 * 122 1,680
401 AlEHIZL 20| 50,000 0 50,000
01 Al& H 50,000 0 50,000
OFEAE LSALS WA ALY 50,000
QISAIE OIHOIE &x 2,250,000 0 2,250,000
z 1,680,000
Al 570,000
401 AlEHI 2 21| 2,250,000 0 2,250,000
o 1,680,000
Al 570,000
01 AlZHI 2,250,000 0 2,250,000
QS AIE OFHOIS AR 2 AHHI 2,250,000
z 1,680,000
Al 570,000
APME S U AHDOIOCS B 745,194 908, 115 A 162,921
[ 5,000
Al 740,194
HAE AMDS 10,000 10,000 0
[ 5,000
Al 5,000
201 UBH2 Y] 10,000 10,000 0
[ 5,000
Al 5,000
01 AFR 22/ H] 10,000 10,000 0
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OZHus ZA =& 40,0003 2253 9,000
< 4,500
Al 4,500
OZMus MIFE WsSH # Al
10,000& * 100 1,000
= 500
Al 500
Aa30 N 735,194 877,135 A 141,941
101 @124l 23,994 20,935 3,059
04 DIt 22 HEE =+ 23,994 20,935 3,059
OgREx& oAl 23,994
A== 1,028,000& * 1% » 123 12,336
—&02012s+) 12,336,000 * 4/12& 4,112
PN =R = 49,300& = 18 = 10 493
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- s 22Xl 130,000& » 1% = 128 1,560
- =AM 130,000& * 1€ » 123 1,560
-tE=g 40,000& = 18 = 128 480
201 Let24] 700 700 0
01 At 2t 2l 700 700 0
O3 SHNUSXNE HAARE S
70,0003 = 5H « 23| 700
202 O4dl 7,500 7,500 0
01 = LH 4 bl 7,500 7,500 0
OZH= AMFAONH (=F) 3,000
OZNagsEEgE HR2FA0Y 4,500
203 YR =&l 3,000 3,000 0
03 AIHZ=XH R =AH| 3,000 3,000 0
OZMads AMBE=A JR=IH| 3,000
307 glz2tol & 700,000 825,000 A 125,000
08 OIXt2& = 700,000 825,000 A 125,000
Oxsze Fdits XN& 700,000
-0IXEES 625,000
- 20128 Sz 0INEESB
10,000,000,000& * 2.5% 250,000
20138 |42 0IXNEHS
15,000,000,000& * 2.5% 375,000
—MEESS+E
15,000,000,000& * 1% * 50% 75,000
SFENA 194,800 180,000 14,800
= 40,000




2N
P XA gdst

el

X ZH
S =

FHMEE D

SHE X 2

SN HH-S(BN) - MBAY - B il HlnE2
< 80,000
Al 74,800
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